Plans and specifications | Landscaping and Interpretation
PHASE 4

A 4

o) C
Fan \ Fan ‘\ r\/l r

: y
&
i PP VN
N~

RK: EAST SIDE

INTERPRETIVE PANELS

Presented to
Canadian Heritage
July 21 2016, revision

Ligg
€ Droja .
dans la fO,{:@e
e

environnement + communications



wc/l 8

well v
IIZ

Ol -

O

o " RE
5] ¢

W/LL O

s .8/SY +0.0/E

NOTES

o
° ©

Recessed hole

Recessed hole

Circular engraved shape

Circular engraved shape

Ilvls
T

to allow to allow to allow graphic disk to allow graphic disk
nut insertion nut insertion assembly to post assembly to post
into post body into post body
+ W
lo, uie o ®
S a; :
] ] |
S : o
==
. S ) )
- 4 ol
' % ' t & ? & =
= ~
N
N N
©
-
~
@
e R
Q -
-—
N -
- - :
e m —
N : 2

@

©

—

.
|
ul

oC

uGE

e
wc/l L

CANADIAN HERITAGE

Phase 3: PLANS AND SPECIFICATIONS

«8/€ 6€

ul ¢

GENERAL NOTE :
All exposed edges of cedar post
to be finished with 1/4" chamfer.

W74

s

NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Cedar post DATE 2/05/2016

Panels and anchoring plate | omwnsyr Julien Le Hégarat

Anishinabe Park geometry VERIFIED BY: Frédéric St-Laurent

East Side SCAE 117 02




NOTES

Removable graphic disk

(facing back)

(1/4" x 836") Aluminum plate
exterior ALTO finish

+ spacer panel

(3/4" x 14" x 14") marine plywood
glued to disk rear surface

3/8" x 5" Lag bolt

for grahic disk
assembly to post

Graphic disk (facing front)

(1/4" x @36") Aluminum plate
exterior ALTO finish

+(3/4" x @31 7/8") marine plywood
mounting disk

glued to disk rear surface

(1/2" x g40") Aluminum

main support disk
Powder coated finish (black)

(3/4" x 2" x 836") Aluminum
circular frame for graphic disks
assembly (front and back)
Welded or glued to main support disk
Powder coated finish (black)

ANISHKABEE

]

Phase 3: PLANS AND SPECIFICATIONS

GENERAL NOTE:
All exposed edges of aluminum panels
to be finished with 1/8"chamfer.

™

['idée projetée dans la forme NOM DU PROJET / PROJECT NAME

TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Graphic support DNE  17/05/2016
Panels construction DRAWNBY: Michel Paquette
Anishinabe Park details VERIFED BY: Frédéric St-Laurent
East Side

SCALE: 1:6 o 4




Stainless Steel Security Hex Socket
Flat head cap screw 8-32 (L=1")
Spanaeur 381-400

+ threated inserts into marine plywood
for assembly of main support to
graphic disk (front surface)

3/8" x 5" Lag bolt
+ threated inserts
in cedar post

Main graphic support
(1/2" x @40") Aluminum

Graphic disk (front surface)

Cedarpost — ¢

NOT

g 28"

EXPLODED CROSS SECTION

CANADIAN HERITAGE

Phase 3: PLANS AND SPECIFICATIONS

GENERAL NOTE:

All exposed edges of aluminum panels

to be finished with 1/8" chamfer.

Alto finish

FRONT VIEW

@7/16" Perforation
for 3/8" Lag bolts

(1/4" x @36") Aluminum plate
Graphic disk (front surface)

(3/4" x 31 7/8") Marine plywood
spacer panel glued to back of aluminum disk

['idée projetée dans la forme NOM DU PROJET / PROJECT NAME

TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Front graphic disk | oxe 1770572016
Panels assembly details DRAWNBY  Julien Le Hégarat
Anishinabe Park VERIFIED BY: Frédéric St-Laurent
East Side SCALE 1:6 05




Spanaeur 381-411

Stainless Steel Security Hex Socket
Flat head cap screw 1/4"-20 (L=3/4")
+

Spanaeur 625-004

Threaded steel insert 1/4"-20 (L=1/2")
for assembly of back graphic panel

to main support disk circular frame

Spanaeur 381-400

Stainless Steel Security Hex Socket
Flat head cap screw 8-32 (L=1")

+ threated insert

for assembly of front graphic panel
to main support panel

[Sans]

@ 30"
///
o //
/
J
/
/
|
|
\\
\\
\\
\\
\\
o \\

EXPLODED CROSS SECTION

NOTES

CANADIAN HERITAGE

Phase 3: PLANS AND SPECIFICATIONS

GENERAL NOTE:

All exposed edges of aluminum panels

to be finished with 1/8"chamfer.

8-32 Insert perforation

for assembly of front graphic disk

1/4"-20 Insert perforation
for assembly of back graphic disk

(1/2" x @40") Aluminum plate
main support disk

(3/4" x 2" x 836") Aluminum circular frame

1/8" reveal on exterior edge
Powder coated finish (black)

Aluminum circular frame perforations

REAR VIEW

for water drainage

O o
I'idée projetée dans la forme NOM DU PROJET / PROJECT NAME

TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Graphic disks DNE  17/05/2016
Panels assembly detail DRAWNBY: Julien Le Hégarat
Anishinabe Park VERIFIED BY: Frédéric St-Laurent
East Side SCALE 1:6 06




R18" Graphic disk (front surface)
1/4" Alto print (electrostatic paint)
onto Aluminum plate

quantity: (4) different artworks

R18" Graphic disk (back surface)
1/4" Alto print (electrostatic paint)
onto Aluminum plate

quantity: (4) different artworks

NOTES

C

W

CANADIAN HERITAGE

Phase 3: PLANS AND SPECIFICATIONS

16 3/4"

i

3"

R 20"

R 18"

107

1/4"

- s

1/2" Stainless steel plate
including laser or water jet pictogram cutouts

(4 different artworks)

(10" x 8.5") Cedar post

including title digital engraving
(4 different names) into post body
painted finish

1/2" Aluminum disk

Support / main mounting plate for graphic disk

Powder coated finish

T shape stainless steel anchoring plate

for post assembly to base
(granit block)

FRONT

™

Base (Cambrien black granit block)

21" QQ
®
~
82"
<
3
BACK

['idée projetée dans la forme NOM DU PROJET / PROJECT NAME

TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Typical DNE  02/05/2016
Panels Interpretive DRAWNBY. Julien Le Hégarat
Anishinabe Park panels VERIFIED BY: Frédéric St-Laurent
East Side and support SALE 115 01




Spanaeur 381-411

GENERAL NOTE:

Stainless Steel Security Hex Socket

Flat head cap screw 1/4"-20 (L=3/4")

+

Spanaeur 625-004

Threaded steel insert 1/4"-20 (L=1/2")

for assembly of back panel to main support disk

Main central support disk

Cedarpost — o

am

EXLODED CROSS SECTION

NOTES

All exposed edges of aluminum panels
to be finished with 1/8”chamfer.

(1/4" x 236") Aluminum plate

ALTO graphic finish

+ (3/4" x 14" x 14") Marine plywood
spacer panel glued to back panel

Perforation for 1/4"-20 screw
for assembly of back panel
to circular frame

ELEVATION

Phase 3: PLANS AND SPECIFICATIONS

ANISHKABEE

CANADIAN HERITAGE

O o
D dée proietée da a fo NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Back graphic disk | oz 17/05/2016
Panels assembly detail DRAWNBY: Julien Le Hégarat
( Anishinabe Park VERFIEDBY: Frédéric St-Laurent
m East Side SCALE 1:6 07
£l




1 oll

285/8"

WATER

GENERAL NOTE:
Icon drawing to be provided in lllustrator CS6 vector format.
Fabricator to be responsible of the final file preparation for water jet or laser cutout.

NOTES

Phase 3: PLANS AND SPECIFICATIONS

PEOPLE

o) o o
EARTH AIR
TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Thematic icon DATE: 17/05/2016

['idée projetée dans la forme NOM DU PROJET / PROJECT NAME

Interpretive

Panels cutout details DRAWNBY. Julien Le Hégarat
( Anishinabe Park VERIFIED BY: Frédéric St-Laurent
1) E : : )
ast Side SCALE: 15
CANADIAN HERITAGE £l 08




-

45/8" 31/8"

41/2"

9II

TOP SPACER BLOCK DETAIL

3Il

2 1/4" 41/2"
9II

VERTICAL SPACER BLOCK DETAIL

NOTES

Phase 3: PLANS AND SPECIFICATIONS

CANADIAN HERITAGE

28 3/4"

75/8" ﬂ

88°

1/2"

R

31/8"

S

11/4"

JP N

31/2"

i
llﬁ

3/8" perforation

o
|

(@)
|
423/4"# 41/2" 4

for stainless steel lag bolt

1/2" Stainless steel plate

including laser or water jet
engraving/cutout

1/2" Stainless steel plate

23/4" 41/2" 4

10"

B

['idée projetée dans la forme NOM DU PROJET / PROJECT NAME

welded assembly

1/2" black rubber spacer
glued to stainless steel

1/2" black rubber spacer
glued to stainless steel

TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Stainless plate DATE  17/05/2016
Panels detail DRAWNBY: Julien Le Hégarat
Anishinabe Park VERIFIED BY: Frédéric St-Laurent
East Side SCALE. 15 09




C s - s

” —4
® Stainless steel plate
. 21II
3
™
o]
N
—8 —_——
! ° (10" x 8.5") Cedar post
; R 20"
= R 18"
_—
n 107 1/4" 1/2" Aluminum disk
(< graphic support
n powder coated finish (baked enamel paint)
_I_
— 82" 1/4" ALTO graphic panel (front and back)
n mounted onto 3/4" circular frame
°.
_——
]
“T" shape anchoring plate
n .
16 3/4 for post assembly to granit block
3 3" T Granite block (base)

O o
NOTES |'idée projetée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #

Phase 3: PLANS AND SPECIFICATIONS

CANADIAN HERITAGE

Interpretive
Panels
Anishinabe Park
East Side

Intordution panel DATE  17/05/2016

general view

DRAWN BY: Julien Le Hégarat
VERIFIED BY: Frédéric St-Laurent
SCALE: 1:15




||0|1

uC8

® »
-y —
N W
= ~
&
a :
= - + (g
i : i ; ——
N é I -
fﬁ w S | °
% | } N
Py w
< o - | =
IN o ! )
O o1 - | | ]
N H =< L L
. o LT T e b b
@ 4 - s 8
& 1 z w y
E ) s Circular engraved shape Circular engraved shape % -
- = to allow graphic disk to allow graphic disk N
B_ assembly to post assembly to post )
- Recessed hole
to allow
nut insertion
into post body
=
- N
:
.5 | O ©
= ,; 4{0) Q i N

uC/l ZT

W/l C
ull

NOTES

Phase 3: PLANS AND SPECIFICATIONS

CANADIAN HERITAGE

JOL/LL O

GENERAL NOTE :
All exposed edges of cedar post
to be finished with 1/4" chamfer.

NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Introduction post | ome 1770572016

Panels geometry DRAWNBY: Julien Le Hégarat

Anishinabe Park VERIFIED BY: Frédéric St-Laurent

East Side SCALE: 17 11




Colour reference
to be determined

Colour reference

Colour reference
to be determined

to be determined

3/4" depth digital engraving
sandblasted or water jet

all edges to be sharp and clean
painted finish into post body

O o
NOTES |:| dée proietée da 3 fo a NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 3: PLANS AND SPECIFICATIONS Interpretive Title engraving DN 17/05/2016
AN ‘ S H KAB E E Par_1e|§ detail DRAWNBY: Julien Le Hégarat
( Anishinabe Park on cedar post VERIFIED BY: Frédéric St-Laurent
) East Side SCALE. 1:10 03
CANADIAN HERITAGE El




‘ GENERAL NOTE:
All exposed edges of aluminum panels
to be finished with 1/8"chamfer.

Removable graphic disk
(facing front)

(1/4" x @36") Aluminum plate
exterior ALTO finish

+ spacer panel

(3/4" x 14" x 14") marine plywood
glued to disk rear surface

3/8" x 5" Lag bolt
for grahic disk
assembly to post

Graphic disk (facing back)
(1/4" x 836") Aluminum plate

exterior ALTO finish
+

(3/4" x 831 7/8") marine plywood
mounting disk

glued to disk rear surface

(1/2" x 240") Aluminum

main support disk
Powder coated finish (black)

(3/4" x 2" x @36") Aluminum

circular frame for graphic disks
assembly (front and back)

Welded or glued to main support disk
Powder coated finish (black)

O ]
NOTES dée proietée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS i Feues
Phase 3: PLANS AND SPECIFICATIONS Interpretive Graphic support DNE 17/05/2016
AN ‘ S H KAB E E Panels detail DRAWNBY: Michel Paquette
( Anishinabe Park VERIFIED BY: Frédéric St-Laurent
IR East Side SCAE 16
CANADIAN HERITAGE El 12




GENERAL NOTE:

All exposed edges of aluminum panels

1o be finished with 1/8"chamfer.
o317/8"

p7/16" Perforation
for 3/8" Lag bolts

9 36"

Main graphic disks support
(1/2" x 840") Aluminum

Stainless Steel Security Hex Socket
Flat head cap screw 8-32 (L=1")
Spanaeur 381-400

+ threated inserts into marine plywood
for assembly of main support to

graphic disk (backsurface)
(1/4" x 836") Aluminum plate

Graphic disk (back surface)
Alto finish

|
|
|
|
|
|
|
|
|
f
|
|
|
|
I
|
|
|
|
|
|
|
|
|
|

(3/4" x 831 7/8") Marine plywood

spacer panel glued to back \ /
of aluminum disk \

L Cedar post

Graphic disk
+ marine plywood
(back surface)

+ threated inserts in cedar post

=

|
|
|
|
I
|
|
|
|
i 3/8" x 5" Lag bolt
|
|
|
|
|
|
|
|
1

FRONT VIEW

O (e}
NOTES e ol e GEie BT NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 3: PLANS AND SPECIFICATIONS

Interpretive Introduction panel
¢ Panels back graphic disk

DATE: 17/05/2016

DRAWN BY:  Julien Le Hégarat

o Anishinabe Park detail
CANADIAN HERITAGE

East Side
E

VERIFIED BY: Frédéric St-Laurent
SCALE: 1:6

13




3/8" Lag holt perforation
for assembly to Cedar post

8-32 Insert perforation
for assembly of back graphic disk

1/4"-20 Insert perforation
for assembly of front graphic disk

(1/2" x @40") Aluminum plate
main support disk

(3/4" x 2" x 836") Aluminum circular frame
1/8" reveal on exterior edge
Powder coated finish (black)

Aluminum circular frame perforations
for water drainage

NOTES

CANADIAN HERITAGE

Phase 3: PLANS AND SPECIFICATIONS

FRONT VIEW

9 30"

g 28"

GENERAL NOTE:
All exposed edges of aluminum panels
to be finished with 1/8"chamfer.

Spanaeur 381-411

Stainless Steel Security Hex Socket
Flat head cap screw 1/4"-20 (L=3/4")
+

Spanaeur 625-004

Threaded steel insert 1/4"-20 (L=1/2")
for assembly of front graphic panel

to main support disk circular frame

Spanaeur 381-400

Stainless Steel Security Hex Socket
Flat head cap screw 8-32 (L=1")

+ threated insert

for assembly of back graphic panel
to main support panel

Cedar post

Back graphic disk

+ marine plywood

3/8" lag bolt

for assembly to Cedar post

Aluminum plate main support

+ welded circular frame

EXPLODED CROSS SECTION

I'idée projetée dans la forme NOM DU PROJET / PROJECT NAME

TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #

Interpretive
Panels

")) Anishinabe Park
! East Side

Introduction panel DATE 17/05/2016

main graphic Support DRAWNBY: Julien Le Hégarat
detail VERFIEDBY: Frédéric St-Laurent

SCALE: 1:6 1 4




(1/4" x @36") Aluminum plate

ALTO graphic finish

(3/4" x 14" x 14") Marine plywood
spacer panel glued to back panel

Perforation for 1/4"-20 screw
for assembly of front panel
to circular frame

ANISHKABEE

NOTES

CANADIAN HERITAGE

Phase 3: PLANS AND SPECIFICATIONS

FRONT VIEW

e

GENERAL NOTE:

All exposed edges of aluminum panels
to be finished with 1/8"chamfer.

Spanaeur 381-411

Stainless Steel Security Hex Socket

Flat head cap screw 1/4"-20 (L=3/4")

+

Spanaeur 625-004

Threaded steel insert 1/4"-20 (L=1/2")

for assembly of front panel to main support disk

Main central support disk

(1/4" x 836") Aluminum plate

ALTO graphic finish
+ (3/4" x 14" x 14") Marine plywood
spacer panel glued to back panel

EXPLODED CROSS SECTION

dé NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Intorduction panel ONE 17/05/2016
Panels front graphic panel DRAWNBY. Julien Le Hégarat
T"” Anishi n abe Park detail VERFIEDBY: Frédéric St-Laurent
- East Side SCAE  1:6 15




ANCHORING

assembly and details




CONCRETE BASE DETAIL

NOTES

CANADIAN HERITAGE

Phase 3: PLANS AND SPECIFICATIONS

(10" x 8.5") Cedar post

Stainless steel assembly hardware

@ 5/8” x 10 1/2” threaded rod
+ washer + rounded acorn nut

3/4" Stainless steel
«T» shape anchoring plate

(4" x 10" x 8")

Cambrien black granit block

81/2" «J» shape threaded
rod hot dipped galvanized
steel

=~
-
-~
=~
=
=~
—~
=~
=~
=~
=~
=
]
-~
=~
=~
-~
=~
=~
=
=~
=
=~
=~
-
-~
-
=
=

W k\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\W3

™

CROSS SECTION

I'idée projetée dans la forme NOM DU PROJET / PROJECT NAME

NOTE:
Concrete base foundation and J shape threated rod
installation are not included in this contract.

Fabricator is responsible of on site measuring and
producing a template in order to position accurately
hole pattern on granit block, “t"” shape anchoring
plate and cedar post.

Fabricator is also responsible for the installation,
levelling and anchoring of the wood post and
interpretive support. Fabricator to guarantee
physical integrity, solidity and wind load resistance
of all structure, panels and fastening methods.

TITRE DU DESSIN / DRAWING TITLE

INFORMATIONS FEUILLE #

Interpretive
Panels
Anishinabe Park
East Side

Post to base DATE
assembly principle

17/02/2015
DRAWNBY:  Frédéric St-Laurent
VERIFIED BY: Frédéric St-Laurent
SCALE: 1:5

17




GENERAL NOTES:

1.

13.

14.

ANY DEVIATION FROM THE CONDITIONS SHOWN ON THE DRAWINGS SHALL BE
SUBMITTED TO THE ENGINEER.

CONTRACTOR  SHALL VERIFY ALL DIMENSIONS AND ELEVATIONS PRIOR TO
COMMENCING WORK. DO NOT SCALE DRAWINGS.

STRUCTURAL DESIGN DONE IN ACCORDANCE WITH:
CSA S16—14 LIMIT STATES DESIGN OF STEEL STRUCTURES;
CSA 086—14 ENGINEERING DESIGN IN WOOD;
CSA A23.3—-14 DESIGN OF CONCRETE STRUCTURES;
HILTI ANCHOR FASTENING TECHNICAL GUIDE (2011 EDITION);
CSA S6—14 CANADIAN HIGHWAY BRIDGE DESIGN CODE.

THESE DRAWINGS HAVE BEEN REVIEWED WITH RESPECT TO THE STRUCTURAL
REQUIREMENTS OF THE ONTARIO BUILDING CODE (2012) ONLY.
NON—STRUCTURAL DETAILS SHALL BE CONFIRMED BY OTHERS.

DESIGN LOADS (SPECIFIED):

DEAD LOAD = 1.0 kN;
WIND LOAD = 0.89 kPa;

q = 0.295 kPa, %o YEARS (OTTAWA, ON);

Ce = 1.0, Cy = 2.5;

Ch = 1.2 (TABLE A3.2.2: SIGN PANELS AND NOISE BARRIERS).
MATERIALS:
CONCRETE:

FOOTING & PEDESTAL, f'c = 20 MPa, CLASS F-2;
REINFORCING STEEL, CSA G30.18 400R (OR 400W);
STRUCTURAL STEEL:
MISC. STEEL, CSA G40.21 GRADE 300W;
WELDING, CSA W59-03, ELECTRODE E49XX;
STEEL CARRIAGE BOLTS, NUTS AND WASHERS, ASTM A307, GRADE A,
HOT DIPPED GALVANIZED (HDG);
ANCHOR BOLTS HEAVY HEX HEAD, ASTM F1554 GRADE 36;
HILTI HIT—HY 200 SAFE SET ADHESIVE ANCHORING SYSTEM.

ARRANGEMENT, GEOMETRY AND CONDITIONS WITH THE EXISTING STRUCTURE ARE
ASSUMED TO BE AS INDICATED IN PANNEAUX D’INTERPRETATION PARC
ANISHINABLE COTE EST (DATED MARCH 31, 20186).

PROPRIETARY PRODUCTS (INCLUDING HILTI EPOXY) SHALL BE INSTALLED AS PER
THE MANUFACTURER’S INSTRUCTIONS.

ALL STRUCTURAL STEEL, METAL FASTENERS, AND ACCESSORIES SHALL BE HOT
DIPPED GALVANIZED AS PER ASTM A123 AND ASTM A153.

WELDERS SHALL BE CERTIFIED BY THE CANADIAN WELDING BUREAU TO THE
REQUIREMENTS OF CSA STANDARD W47.1.

CONCRETE SHALL BE PLACED IN CONFORMANCE TO CSA A23.1.
TO REINFORCING STEEL SHALL BE 3" IN ALL LOCATIONS.

CLEAR COVER
THESE DRAWINGS SHOW THE FOOTING AND ANCHORAGE CONNECTIONS ONLY.
THE STRUCTURAL COMPONENTS OF THE SIGN SHALL BE CONFIRMED BY OTHERS.

REINFORCING STEEL AND ANCHORAGE SYSTEMS SHALL BE
ENGINEER PRIOR TO COVERING.

INSPECTED BY THE

8 —10"

- VARIES
2'—0" MIN

~
N

)

| w/ HILTI HIT-HY 200 ADHESIVE

SIGN BY OTHERS
(CONTRACT B)

4 — @ %" CARRIAGE
BOLTS c¢/w NUT &
WASHERS (HDG)
(CONTRACT B)

!fINTERNAL PLATE CONNECTION
— (HDG) (SEE 2—4/SA—2)
/ (CONTRACT B)

GRANITE PEDESTAL
L 10"x8.5"x6” (WxLxH)

~ (SEE 1/SA-2)

. (CONTRACT B)

>~

4 — ¢ %" HEAVY HEX BOLT

1= BARS & 3 —
— " SPAGED

S (HDG) w/ 14" MIN. EMBD.
| (CONTRACT A)

ILL
e EXISTING SOIL OR F

» 16" CONCRETE
FOOTING w/ 6 — 10M VERTICAL

| (CONTRACT A)

* FOOTING ANCHORED TO
BEDROCK w/ 6 — HILTI ;

’ i
] |~ HIT=HY 200 & 10M BAR 3
l{?f ~ 12" MIN. EMBD. J

(CONTRACT A)

X
<§§>§; | EXISTING SOUND )

\//\~ NON—-FROST—-SUSCEPTIBLE

| BEDROCK

71\ SIGN FOUNDATION

W 1/2"=1"-0"

ELEVATION

client

VISOU DESIGN

S| art englineering ine.
oA

B2 ) 17
Cany
e

scale 1/2n = 1:_0w

2. REVISED 09-05-16
1. REVISED 14-04-16
0. FOR CLIENT'S REVIEW 13-04-16

revisions date

A delail no.
no. de détail

B location drawing no.
sur dessin no.

| [FOOTING & ANCHORAGE

project
ANISHINAABE SIGN

PARC DES PLAMNES LEBRETON:
COTE EST OTTAWA, ON

10M TIES EQUALLY

drawing

GENERAL NOTES
& ELEVATION

| é& E
100175002

1B

drawn J.LB. upprovedD.W°

“ May 9, 2016

project number drawing number
3505 SA-1




8%”

,] O”
2)7 6” 2)9
[a\} o O/
B
X 0 O
‘™

DRILL 8 %" HOLE
& EPOXY PRECAST
® %" HEAVY HEX )
HEAD ANCHOR )
w/ HILTI_HIT=HY 200 |
SAFE SET ADHESIVE
(CONTRACT B)

(TYP.)

)

GRANITE PEDESTAL |
10”x8.5"x6” (WxLxH) |
(CONTRACT B) 3

/ 1\ GRANITE PEDESTAL ;

1:_4_\3/479

SA—2) 1=1/2"=1-0"
85"
25" 3p" 2"
@ O
7%
R -
. o o
N .
] e

-

PLAN DETAIL )

|_— PLEE'X16%%" (HDG)

¢ '%g” HOLE

(TYP.)
PL8%"x10"x%" (HDG)
CENTERED ON R.C.
FOOTING

1/4" N\ 8"

1/4)9 I 8”

/3N INTERNAL PLATE

@ 1=1/2°=1"-0"

SIDE DETAIL

2" 6" 2"
TN
-
5

PL8%"x10"x%" (HDG) CENTERED
ON R.C. FOOTING
(CONTRACT B)

PL8%"x16"x%” (HDG)
(CONTRACT B)

1/4" N\ 8"
/4" |/ 8"

¢ 16" CONCRETE FOOTING

w/ 6 — 10M VERTICAL BARS &
3 — 10M TIES EQUALLY SPACED

(CONTRACT A)

4 — ¢ %" HEAVY HEX BOLT
w/ 12" MIN EMBD. (HDG)
(CONTRACT A)

2\ INTERNAL PLATE

\Sf\j/z/ 1=1/2°=1"-0"

PLAN DETAIL

. PL8%"x16"x%” (HDG)

Bl
¢ '"Me" HOLE
(TYP.)
;% —
J. - 1/4" N\ 8"
/4" |/ 8"
N - PL8)%"x10"x%” (HDG)
| N - i} /Fqggq&RGED ON R.C.
7| & |
e

4\ INTERNAL PLATE

\SA-2) 1=1/2"=1-0

FRONT DETAIL

client

VISOU DESIGN

| art engineering inc.
i d

scae  1—1/27 i'=0"

2. REPRINTED 09-05-16

1. REVISION 14-04-16

0. FOR CLIENT'S REVIEW 13-04~-16

revisions date

A A detail no,
no. de détail

B B location drawing no.
sur dessin no.

project

ANISHINAABE SIGN

FOOTING & ANCHORAGE
PARC DES PLANES LEBRETON:
COTE EST OTTAWA, ON

drawing

INTERNAL PLATE
CONNECTION
DETAILS

(€ “nrweDEucH W |
100175002 ]
§-MAR- 2018 j
&/

designed reviewed

J.LB. J.S.

drawn approved

J.1LB. D.W.

" May 9, 2016

project number

3505

drawing number

SA-2




MAX. ; \\‘
SIGN BY OTHERS ( §
P CONTRACT B /
- ( ) | INTERNAL PLATE CONNECTION y
i ( (HDG) (SEE 2—4/SA-2) g
| SIGN BY OTHERS N (CONTRACT B)
(CONTRACT B) _ / ! e
41 }
===+~ INTERNAL PLATE CONNECTION )
ol 4 — ¢ %” CARRIAGE LEVELING NUT (HDG) (SEE 2—4/SA-2) ) VISOU DESIGN
=% BOLTS o/w NUT & L w/ 2" WASHER — (CONTRACT B) )
ol WASHERS (HDG ‘l SECURED TO
0 (HDG) © HEAVY HEX BOLT )
(CONTRACT B) (TYP.) GRANITE PEDESTAL 10"x8.5"x6” (WxLxH) | -
(CONTRACT B) = = =|+ — - w/ HILTI HIT—HY 200 ADHESIVE q Q"— o nesring Inc.
& & (SEE 1/SA-2) 4
INTERNAL PLATE CONNECTION ( g 4rj( A (CONTRACT B) __
(HDG) (SEE 2“4‘/SA'—‘2> ( = g w///rr 3\ scale 1/2 = 1-’0
(CONTRACT B) = e /',,1_ | % 16” CONCRETE
l ’ ‘ I I *‘ FOOTING w/ 6 — 10M VERTICAL / [ 1. |revsion 03-05-15
GRANITE PEDESTAL 10”%8.5"x6" (WXLXH) ’ o |l 1] — — BARS & 3 — 10M TIES EQUALLY 0. |FOR CLENT'S REVIEW 19-04~-16
w/ HILTI HIT-HY 200 ADHESIVE j;» » I I | SPACED ) feore] o
(SEE 1/SA-2) 4 =N (CONTRACT A) 7 A N\ A et o,
(CONTRACT B) | | i—“ ’1, R
Fi location drawing no.
i L\ \ sur dessin no.
ﬂL } ’ B Sl @ 2" WASHER SECURED TO /b=
LS 1 ™— HEAVY HEX BOL NUT
— - | (WAP) (CONTRACTT % " |__ ANISHINAABE_SIGN
g1 - ; - / |FOOTING & ANCHORAGE
_ < ..,_4_,;_,.,_“_,.,,_.,,__-,_:’::\ 4 — o %" HEAWY HEX BOLT ) ) PARC DES PLAMNES LEBRETOMN:
— = - = EQBE}RX& 1:') VIN. - EMBD. 2 Y\STAND OFF CONNECTION
— SA-3/ 1"=1"-0" DETAIL | [
- TH—1 11 e— } )
©|z — ||| == Y. OPTION gr:OSﬂGN
NE L T - ELEVATION
© < — %>
=1 ] ® 16” CONCRETE
I e L Rl FOOTING w/ 6 — 10M VERTICAL
— || |= == BARS & 3 — 10M TIES EQUALLY
— SPACED
Tt ] EEpeniill (CONTRACT A)
T IllmHl T UNDISTURBED SOIL ; - gF OF
i / S — designeci,‘l.B. reviewedD.W'
drawn approved
o J.1L.B. D.W.
/1) OPTION 2: SIGN FOUNDATION -
SA-3/) 1/2"=1"-0" ELEVATION April 19, 2016
project number drawing number
: 3505 SA-3




SD MOD

general views and details




NOTES

FOR REFERENCE ONLY

CANADIAN HERITAGE

Phase 3: PLANS AND SPECIFICATIONS

l'idée projetée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Interpretive Interpretive DATE  31/03/2015
Panels support DRAWNBY: Julien Le Hegarat
( Anishinabe Park 3D views VERFIEDBY: Frédéric St-Laurent
™ East Side SCALE n.a. 21
S




CEDAR POST
ENGRAVING DETAILS

FOR REFERENCE ONLY

ASSEMBLY DETAIL OF
GRAPHIC PANEL TO CEDAR POST

NOTES 1o d NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 3: PLANS AND SPECIFICATIONS Interpretive Post and oNE 31/03/2016
Panels graphic support DRAWNBY: Julien Le Hegarat
Anishinabe Park 3D details VERFIEDBY: Frédéric St-Laurent
East Side SCALE: n.a.
CANADIAN HERITAGE 22




FOR REFERENCE ONLY

TOP ENGRAVING DETAIL BOTTOM ENGRAVING DETAIL

O e}
NOTES |'idée projetée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 3: PLANS AND SPECIFICATIONS Interpretive Post and oME 31/03/2016
Par_melg graphic support DRAWNBY: Julien Le Hegarat
( Anishinabe Park 3D details VERFIEDBY: Frédéric St-Laurent
m East Side SCALE: n.a.
CANADIAN HERITAGE El 23




®
TURTLE

BEAR

EAGLE

MOOSE

O
NOTES l'idée projetée dans la forme NOM DU PROJET / PROJECT NAME TITRE DU DESSIN / DRAWING TITLE INFORMATIONS FEUILLE #
Phase 2 Interpretive Plan de site ONE  31/03/2015
For Reference Only Par)e'? localisation des DRAWNBY. Frédéric St-Laurent
Measurements to be validated on site ( Anishinabe Park supports VERIFIEDBY: Frédéric St-Laurent
1) 1 - , -
! EaSt S'de |nterpretatlon SCALE: n.a. 03
CANADIAN HERITAGE B






